1&: % e Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagdo:
1,834 x 1000 = 7,35 x 1000 =
9,487 x 1000 = 3,391 x 10 =
8,481 x 10 = 8,292 x 100 =
8,385 x 100 = 4,638 x 10 =
1,461 x 100 = 4,021 x 100 =
7,663 x 100 = 3,396 x 100 =
6,803 x 10 = 2,572 x 10 =
1,414 x 100 = 4,432 x 10 =
1,916 x 1000 = 7,489 x 10 =
8,165 x 10 = 3,596 x 10 =
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Multiplique decimais por 10.100.1000

Nome:

1, 834 x 1000 = 1834

9,487 x 1000 = 9487

8,481 x 10 = 84.81

8,385 x 100 = 838.5

1,461 x 100 = 146.1

7,663 x 100 = 766.3

6, 803 x 10 = 68.03

1,414 x 100 = 141.4

1,916 x 1000 = 1916

8,165 x 10 = 81.65

Encontro: Data:

7,35 x 1000 = 7350

3,391 x 10 =33.91

8,292 x 100 = 829.2

4,638 x 10 =46.38

4,021 x 100 = 402.1

3,396 x 100 = 339.6

2,572 x 10 =25.72

4,432 x 10 = 44.32

7,489 x 10 = 74.89

3,596 x 10 = 35.96
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Pontuacao:
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